E06-016


In this circuit two different resistors, 

R1 and R2, are connected in parallel.

The switch S is open.

There is a reading on the ammeter.


The switch S is then closed.

(a)
What happens to the reading on the ammeter?

Tick ONE box ()


It gets bigger.


It stays the same.


It gets smaller.


It gets smaller if R2 has less resistance than R1.  It gets bigger if R2 has more resistance than R1.

(b)
How would you explain this?

Tick TWO boxes () below –one from each group

The total resistance is now bigger. 


The battery cannot push as big a current round the circuit.


The total resistance stays the same. 


The second resistor provides an extra path for current to flow.


The total resistance is now smaller. 


It is the same battery, so it always supplies the same current.


The total resistance is the average of R1 and R2.




How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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